Lesson 2: The Graph of a Linear Inequality

A linear inequality is of the form 2x + 5 < 15 and does not include an equal sign. A
solution to a linear inequality is the set of numbers that satisfy the inequality. Each inequality
below is followed by a list of numbers. Determine which numbers are solutiong of the
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To graph a linear inequality with one variable or letter the steps are the sarge as solving
equations but the solution must be graphed Solye the follow?g andél'aph on a number line:
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We can also graph the solution on a coord&ate plane. Solvé( the foﬁowmg _,_/_—:a}\_f_\
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